EARAROBEEIERT — 2 N— IBISH —F

2018558120 (£) 2EEH5H

il C3—4 C3 47%—#% ‘ [X12] # ‘ [eEmsh]l  — | & () 13000 =
[A&4£] 1 7 :200,000™ ~ 23#%&:60,000H”  33&:30,000H”  437:20,000MH .~ 57&:10,000
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S, _ i 6 | BREE—BA 1:26.9 3-4-2-1 [39.7| — 4 460 | KERZ (&)
118/9|¥-bY 54.0 ) ) |BBET
RTITRATFIZI B:XZ¥— M =L BRI 2V K
= . 4 o9 | EREBER 1:27.3 7-7-4-3 | 39.9| — 3 520 | BEMAE (&)
2/8|10| 777 >H 1Y~ 56.0 @ o | W s5es
SHIWRA RN TA bE BiHIVIbH A4~ Bl 1@
= . 4 6 | BARKH 1:27.6 9-8-6-5 |40.0| — 8 499 | HREHER (BF)
3155 XvIv7 ¥¢55.0 (1 1/2) o) |BEHEH
:707% B:IFHINZYNFX v £ N
= N S [BLEY ; —6-7- — NBEE (FH)
4 s lEF191T > 4 B (17.277% 6-6-7-6 | 39.9 2 123)7 L
L:29)—>ke—0— B:ALLT> PR R ]
N BT =] :27. -9-8- . - mILAE (FH)
5 6| *T>¥avsnsan "6 56.0 1(32/74>7 10087 1 %9.5 ! f; ﬁﬁ%fiﬁ
LN=V754 B:TI—-IER=V— EFHS
= 2 %3 o7 | BAEX 1:27.8 2-3-2-2 |40.6| — 5 473 | EEBE (GH)
6178 |FXTRTXAY £\54.0 (1/2) (3) | ERFEE
RTIRAFTaN BS54 )4 =1
ST 4 5 | LEINF 1:28.2 1-1-1-4 | 41.1] — 1 48 | EEEE (BH)
71717 A Iy 54.0 @ 1) (R) J P N
L:a—-LvisLrf4a B:7AT7AE1TF J=ZH-F
= =, = KIRAE : -5-9- - BEEX (FH)
8 NP i 5 i 1.(259).3 4-5-9-9 | 40.9 6 (:?i) o
R:TT5T7>7—)b B:5X54 [53ctier]
R R 1kl -30. 05— . — #llEsE ()
ol1l1|on—1510 #H 5 s 1(350)4 5-2-5-8 | 42.9 9 :1_417) L
RN—ErTv— BILIFRITN—T J—HrTr—LI
. w7 | KiEHEER 1:30.5 8-10-10-10 [ 41.6 | — 10 | 513 |ABIAFRE (FH)
Eﬂ 4| *EU=NyHZR 56.0 (1/2) (5 | W) 4557
R:xA21=T7—Z B:YIHXIXTh Ellike
® 1—F—@EBIERL
1T=7r= 7,8,9,3,1,2,10,4,5,6
2a=5F= 7,1,8,9,3,2,10,5,6,4
Ja=5= 7,(8,9),10,1,5,2,6,3,4
40—+ — 9,8,10,7,5,2,6,1,3,4
[ /N
B 9 950M 714K 9-10 900M e E 8-8 2,920/ JEE 5-9-10 37,410
B B 9 210H 5-9 7,440H B = 9-10 1,620 EE 9-10-5 129,320H
10 180H4 5-10 2,950 B H 9-10 4,440M
0 690H

ABICOVWTRDTEEERROODE. TR LIV,




